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Notes
(a)

B1: Correct coordinates

(b)

M1: Correct strategy for the gradient at P
M1: For using their gradient at P and their point P with a correct straight line method
AT*: Correct equation following correct working

(©

M1: Awarded for starting the process to find the value of 7 at Q. E.g. substitutes the parametric
form for C into their /
M1: Deduces that (x — 3)? (or (x — 3)) is a factor and uses this to make progress in finding the

required linear factor of the cubic. Alternatively solves cubic using calculator.

Al: Deduces the correct coordinates of O

(d)

M1: For attempting j yx%dt

M1: Correct use of limits

M1: For the correct trapezium area approach using their values

M1: For a complete strategy for finding the area of R. There must have been an attempt at the
area under the curve and an attempt and the trapezium and an attempt to subtract.

Al: Correct area oe e.g. 76.8




